
MODULE 

MATHEMATICS FORM 5 

CHAPTER 4: MATRIX 

 1.    2p – q = 10 

       5p – 4q = 34 

2.   423  nm  

     1754  nm  

3.   6583  qp  

      5572  qp  

4.     2634  yx  

        72  yx  
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 5.    33  nm  

       448  nm  

6.   438  yx  

     22  yx  

7.   329  nm  

      14  nm  

8.     96  yx  

        114  yx  
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 9.    112  qp  

       3443  qp  

10.   213  qp  

     8
3
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11.   383  yx  

      14  yx  

12.     832  ts  
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 13. 4x + 2y = -4 

      7x + 3y = -3 

14. 7x + 2y = -3 

      8x + 3y = -2 

15. 9v – 7w = 11 

      3v – 2w = 4 

16. 2m + 2n = -18 

     -5m + 3n = -5 
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